Egyptian Adventure Fairness Verification

Parameter Name  Description

serverSeed "The server seed is generated by our s?sterﬂs a random 64-character hex
string.
clientSeed The client seed belongs to the player and is used to ensure that the player

has influence on the outcomes' randomness.

nonce The serial number of the bet

[round  Rounds of scrolling

times Ll ' The number of scrolling in an inning

reelColumn Sequence of the scroll reel

W Number of symbols dropped

lhash ~ Random number generated by HMAC_SHA256
[index The territory of the intercepted hash

events " The selected random number value range [0,events)

arith
String hash = HMAC_SHA256 (string, serverSeed)

"double random = (Long.parseLong( hash.substring(8* index, 8 *index +14),16 ) >> 3)* Math.pow( 2, -53 ) *events;
How to use: random(hash, index, events)"

Place a bet-> Enter the <Base Reel> -> Start the <Eliminate Symbol>,
If the <Base Reel> triggers free -> Start the <Free Reel> -> Start the <Eliminate Symbol>, when the number of free times
is O, return to the <Base Reel> to continue to eliminate symbol.

Triggered by 3 or more Free Fall symbols plus a <WILD> symbol in a way. 3 Free Fall symbols in a win way award 9 Free
Spins and each additional Free Fall symbol in a win way awards an extra 3 Free Spins!

Initial parameters: round=1/ dropNumber=1

Select scroll reels

Select WILD reels

times=1

hash=HMAC_SHA256 (clientSeed:noncerround:times, serverSeed)
index:
events=351600, this value is equal to the sum of <The Base Game Weight column=> in <The Reel Table Rule>
Replace <The Reel Table Rule> according to the result of random(hash, 0, 351600)

Select BASE reels

times=1

hash=HMAC_SHA256 (clientSeed:nonce:round:times, serverSeed)
index=1

events=2

Select <The Reel Table Rule> according to the result of random(hash, 1,2)
If random=0, select Base Reel Set 1in <The Reel Table Rule>

If random=], select Base Reel Set 2 in <The Reel Table Rule>

Show symbol number

times=2

hash=HMAC_SHA256 (clientSeed:noncerround:times, serverSeed)

index=[0,5]

events=the sum of one of column in the Base Game table in <The Reel Table Symbol Number>
eg: the number of symbol in the first column of the scroll reel, random(hash, 0, 130)

Show symbol seat

times=3

hash=HMAC_SHA256 (clientSeed:noncerround:times, serverSeed)

index=[0,5]

events=The number of symbols in the current column of your selected scroll reel
eg: when the reel is <Base Reel Setl>, index=0, then random(hash, 0, 275)

Initial parameters: round=round+1/ dropNumber=1

Select scroll reels

Select WILD reels

times=1

hash=HMAC_SHA256 (clientSeed:noncerround:times, serverSeed)

index=0

events=251600, this value is equal to the sum of <The Free Game Weight column> in <The Reel Table Rule>
Replace the reel table according to the result of random(hash, 0, 251600)

Showing Symbol Number

times=2

hash=HMAC_SHA256 (clientSeed:noncerround:times, serverSeed)

index=[0,5]

events=the sum of one of column in the Free Game table in < The Reel Table Symbol Number>
eg: the number of symbol in the first column of the scroll roll random(hash, 0, 50)

Showing Symbol Seat

times=3

hash=HMAC_SHA256 (clientSeed:noncerround:times, serverSeed)
index=[0,5]

events=the number of symbols in the current column of the selected scroll reel
eg: When the reel is <Free Reel Set>, index=0, then random(hash, 0, 324)

"When the reels start to eliminate the symbols

dropNumber=dropNumber+1

The reels will start the first time to eliminate if any symbols meet the conditions. It will enter the elimination round again
after the first round of elimination is completed (if it can be eliminated again)

How To Calculate Payline
The reel will auto connect pay lines according to the rules and eliminate the symbols

How To Calculate Free Reel

If trigger <Free Reel> in <Base Reel>, it will enter <Free Reel> immediately;

After the end of scrolling <Free Reel>, will return to the current symbol to eliminate <Scatter>;

If trigger <Free Reel> in <Free Reel>, will eliminate <Scatter> and increase the number of free times.

Drop Symbols
When the number of symbols in a column of reels eliminated is less than the symbols that should be displayed, the
symbols will be dropped in sequence according to the rules

times=times+1

hash=HMAC_SHA256 (clientSeed:noncerround:timesreelColumn, serverSeed)

index=[0,6]

reelColumn=[0,5]

events= calculate the weight ratio according to <The Drop Symbol Rule Table> of the dropped symbols

random(hash, index, events)

eg: In the first scrolling, when there is 1symbol in the first column after elimination, the amount of displayed symbols is
3,and the index is the amount of symbols in the current column, when the first drop starts, random(hash, 1, event).
when the second drop starts, random(hash, 2, event)

Earthquake

‘When the current round has not eliminated the symbol and has not triggered an earthquake,
The probability of triggering an earthquake in <Base Reel> is 1/75

The probability of triggering an earthquake in <Free Reel> is 1/35

times=times+1

hash=HMAC_SHA256 (clientSeed:noncerround:times, serverSeed)

index=0

events=75 or 35

eg: In the <Base Reel>, random(hash, 0, 75), if random=0, then it will trigger an earthquake

After all {PIC6Y/{PIC7}/{PIC8}/{PIC9} are eliminated by earthquake,
the symbols will be dropped sequentially according to the steps of <Drop Symbols> (times will not increase by 1in this
situation).
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87[__pics C C c7 C: c 88
88 C: ca C 7 C C %)
89 _pic: c5 c9 c i C 20
90| _Pic: c3 ic8 c C c8 9
91 SCATL c7 c c c3 22] #io
92| i C C c C 7 gi Ee
93 pic C IC: ct C: &
94[pice c ic C C C o L
95| _Pic C c C c: 8 o) LS
96[_pIC C; C: c: C 74 Hoh
97[_pic: C c c & c: g L
98| __pics C c C C
99| pic C c: c c i
100[ PN c: c
101 c C c: c: c:
102 c C c C:
103 c C C:
104 c. C ca c: C:
105]_pice C c6 c: c
106]_piC: & c iC7 c: C
107|__PIC; C c9 C C
108]__pic: 7 c ca c3 C
109]_PiC C C: c3 C
110[_PIce c: c c ic8 C:
1| __pic C c C C:
112 c C c c c
13 c8 C c c C
114]_pice C c C c: C:
115 ca C C C
116]__pic1 C i c c c
1u7|_pic7 C IC C C C
118[_pico C I P C: IC
119]_pici C IC PIC: ct IC
120]__piC; C I PIC: & & 122 Pic
121 _PIC; C IC PIC C: C: 123[ e
122|_pica C: i1 ic Ic i 124 i
123]_pict C: ic1 19 IC C 125 PIC
124]_piC; C iC6 C: iC6 7 126 PIC
125]_PIC; C IC5 c: IC6 c7 127
126]_pIC: C: 19 SCAT1 C: 128
127]_pics C Ico c C: C 129
128]_pic: C I3 C: C: 130
129]_PIC; I8 C C 131
130]_PIC; Ic1 C: C: 132
131 I3 C: C c 133 ]
132 ICS C: C: 134 ]
133 c C Cs C C: 135 7
134 C C C C c: 136 7
135 7 Ct C: c: c 137 7
136]_pIC: C; C: ca c 138
137 c c ct c c7 139 pico_|
138 c C C c c: c 140]_Pic:
139 _pIC C c: c C: B 11| pics |
140[_PIC: C C: c c7 c: 142 wio_|
141]_pice c C: c: c 143]_PIC
142 & & Ct Ct c: CS 144 C
143]_pICe c: c: c: 45| Pic:
144 C: C C: C: C: Cé 146 C
145 12 4 ct Cé 147 C:
146| _scAT1 9 C C c C 148 C
147 c3 5 C C 149 C
148 c c4 c8 c c C 150 C
149 C c8 c7 c C 151] WILD: |
150 C7 c 152 G
151, C c C 153 c:
152 c c: c 154]_PIC
153[_PIics [ P P C IC 155 c
154 7 IC iC C: C IC 156, E
155]_pice SCATL | _SCATL C: c: iC | L
156 C C C: C: IC; 158 f¢
157 _PIc C c C: i SCAT1 159) MOl
158 PIC: C C: IC 160] Pic
159 _PIC: C c C IC 1611 _plC
160|__pICe c7 ic cC I c 1621 wuo |
161]__pic: G ic & c 12 i:g
162[__pice c ic C: &
163]__picy C I c c: c: i:: E
164 c C C: < ol
165 C c: c. c: e
166] _pICS c: c: c: C: I
167 C c: C: e
168]_pict Ca c8 c C "
169 c C ] c C: e
170| C c8 c SCAT1 C o
171 c c IC5 c C i i
172 C IC6 C C b
173]__pict C ic8 C C: c: e
174]_SCAT1 C C9 C C C A T
175 _pic7 C 7 c c: C S
176]_pic: I3 c7 c: C: c7 e s
177]__pice C 7 c: C 7 S
178]__PIC; C c7 c Ct c8 2
179]_pICt C SCATL c c: 9 L
180] _piC: c: PIC c C: 7 i
181]_pIC; c PICS c: C 7 pe|
182]_pic7 C PICE c8 c T
183]_pic7 PIC P PIC c6 186 PIC
184]__pic7 PIC [ PIC c2 c
185]_piC: C 7 C: C:
186]__PIC: C C C: C:
187|_pICe C C: C
188]_piCt . c: C c: c
189 C & c C: c
190]_pict C c C &
191 c8 Ct C: 16
192 c C c c IC5
193 c7 C c7 IC7
194]__PIC; . C: c7
195[_pico C C C
196]__pIC: C C c: i
197 _PIC: C8 C C: C:
198]__piC: C iC iC C:
199]_pics 4 iC IC Ct
200[_PiC PIC IC IC1 IC
201 pic PIC] I 14 iC
202 pica C 19 c7
203[_pica C c I8 c7
204 picy C 17 PIC
205|_SCATL C: c iC PIC6
206 __pic IC SCATL & PIC 209]Pic:
207 _pics C C: C: 210[_PiC:
208 _pic7 C C C: | pies |
209 _pic: C c: C c 212[ Wil
210 _PIcS C C 213] PIC;
211 c C 7 c: = 214] pica
212 C 215 _PIC
213 C: [&: C: Cé & 216 C:
214 7 C; C: C: 217
215 C C IC: C 218
216, c C: IC: C c C 219
217 C C IC: c c CATL 220
218, C C IC7 C C: 224 I
219 C: C: C: C C: 222 G
220 C: C. C SCATL C: C: 2 C
21| PIC ic1 C PICE C: C: 24 &
222[ picT PICT PICT I C: 22 C
223 _picy c7 IC C1 iC1 C 226] i
224 pic3 C: iC c7 iCs C 227
25 =] C C IC5 C: 2281 wi0
226 7 c: C: c: IC7 C; 2201 PIC
27| _Pice C SCATL C C 23] HiC
28] _pica C 6 | scatl C C 2311 Wi
29I C6 8 1co c ica 232] PO
230[_PiC: c3 a7 IC6 c ica 233] PIC8
231 _ScATL 7 9 c7 C 5 ool BT
232 pics C IC c5 C: C e
233 piC: C IC c8 C C: e
234 _pic: c Ct c7 c: i i
235[_Pic C C c6 C: C: 29l
236]_pic C C c9 C: SCATL b
237 _pIc SCATL C c7 C: IC a1 e
238 g C IC7 ca & I3 e
239 c C 7 c9 C: 14 I T
240 c c C C: ca 41| —hic
241 C 8 C c5 c7 e
22 pice c8 C c Ic5 c: e
243 Pl C C: IC4 C: 247,
244 pic = c: c c c s
us[piC C c C 5
246[_Pic7 C C c C 355
27[_Pic C c c c Je1
248 _pic C c. SCATL C: 2501
249 C C SCATL IC c 253
250 _pic: C 6 IC c |
251 c Ct 7 ic: c: C: 55
252 c: C C: c: C: 256 Pic
253 ca C ct c: c 2571 e
254 C Ct C: c 258 PIC
255 C c: C c 250 i
256 _pic: c: C c 260 Pic:
257|_SCATL C c c7 C: 261 i
258 _pIC: C c c7 C: 262[ Pic
259 c C c c c
260 __PIC: Ce c c c
261 Ct c
262 c: C c7 c IC
263 C c7 C: &
264, c7 C: C:
265 C: c ct
266 C: C: C
267, I C: C: c
268 IC C: c: c
269 IC Ct C c
270 ic < ca c
271 iC C: C: c:
272 Ic C: C c:
273 IC C: C C
274 IC: Ct C: IC7
275 Ic C Ct ICi
276 C: & C: c
277 C C C <
278 _pic3 C ct C: C: C:
279[_PIC: C C Ct Ct C
280 _PIC: C C C: c: C
281 pIC C C: C: C: c:
282 pica C C: c: IC
283[_pico 7 c7 C: C
284 pico C c SCATL c. ic
285]_pics C c 7 = SCATL
286[__Pic c &
287 _pic C c: C
288 _pic C c c: C:
289[_pic C c c: c: c
290 _pIC: C c C C:
201 pic: C SCATL c
202 pIc C G c C
293 C c c: c: C:
204 _piC: SCATL c7 c: C:
295 c 17 c c:
296, C IC C C C C: 300) PIC
297 c IC C C C 301 IC:
298] _PIC PIC PIC c7 C 302 IC:
299| PIC PIC c PIC: c7 1C 303 IC3
300] _pic7 c7 Ic PICT ic7 I 304]. PIC:
301[_pic: co ic: PICT ic8 C 031 WID. |
302[ P C i PIC c8 C 306]._-plc
303 _pic: C Ic PIC: C C: 307 _HC
308 _pics C 19 PIC C: Ct :gg E
305 c C: C ic: i c 10 hic
306] _pic7 C C [ C c e
307 c C C: c C C P
308 c ¢ c C 313[_pic
309 C C c3 |
310[_piC C c C: C i et
311, C C S C C: C st Tic
312 Pic 4 c & c e
313[_pic c3 C: C
314 _pics C: c7 C C
315]_pic C C: C: C
316]__PIC C c7 C C: C
317[_pIC: C C7 C: c: c
318]_piC: c & c & c:
319 _pic: C C: c c: C
320 _Pic C C c: cS c
321 pic c: C6 ca C7
322 pic c IC6 c7 c
323 pIc c4 IC4 C C5 c
324 _pic ca ic4 cz ic4 c.
325 c1 SCAT1 <
326 c3 PIC3 C:
i B ™ w 5 3 Gase Game Weigh | Free Game Weght
300,000 80,000 |0 Wid Reel
Wid eet 5,000 5,000
Wid Reet 5,000 5,000
wid Ree! 8,000 5000 | s e
Wi Reet 5,000 8,000
Wid Rt 5,000 5,000
Wi Reel 8000 5,000
Wi reet Wil reel so0 s00
Wi el Wid Reel s00 s00
Wid Ree! Wid Res! s00 s00
Wi reet Wi et a0 40
Wild Reel Wild Reel 400 400 |2 Wild Reels.
Wid Ree! Wid Reet a0 a0
Wid Reet Wi reet 00 300
Wid Reet Wi reet 300 300
wid Ree! Wi Reet 300 300

Base Game will use <Base Reel Set 1> and <Base Reel Set 2>, each with a probability of 50%

After deciding to use <Base Reel Set N>, determine whether there is Wild Reel according to the Base Game Weight in
the table above

If there is <Wild>, the selected 1 or 2 reels will use <Wild Reel> instead

eg: This spin draws to use <Base Reel Set 2>, and draws 2 rounds for the <Wild Reel> with a chance of <Wild>

| | | wildReel | | widReel | |
Then the scrolling used by the 6 reels is like this:
Base Reel Set2 Base Reel Set2 Wild Reel Base Reel Set2 Wild Reel Base Reel Set2
E -R2 -R1 -R4 -R1 -R6

Free Game will use <Free Reel Set>
Determine whether there is <Wild Reel> according to <The Free Game Weight> in the above table
If there is <Wild Reel>, the selected 1 or 2 reels will use <Wild Reel> instead

Symbol Amounts R1 R2 R3 R4 RS R6
7 5 5 5 5 5 5
6 10 10 10 10 10 10
5 15 15 15 15 15 15
4 30 30 30 30 30 30
3 40 40 40 40 40 40
2 30 30 30 30 30 30
f ; eel A t Weight
Symbol Amounts R1 R2 R3 R4 RS R6
Z 5 5 5 5 5 5
6 5 5 5 0 10 10
10 10 10 0 10 10
4 10 10 10 0 10 10
10 10 10 0 10 10
2 10 10 10 10 10 10

The sequence of the Reels that the symbol drops is from left to right and from R1 to R6
The initial drop symbol is determined according to <The Reel Table>. When the initial symbol has connected paylines
and earned score, the new drop symbol after elimination is determined according to the weight as per below tables:

Symbol | Normal Reel weight WILD Reel weight
PIC1 100
PIC2 100
PICS 125
PIC4 125
PIC5 125
PIC6 150
PIC7 150
PIC! 150
PIC9 150
SCATI 60 T 0
WILD 0 [ 60

If there is a{SCATT} or a {WILD}, then {SCAT1} or {WILD} weight will become 0.
If there are a{SCATI} or a {WILD} in the symbols currently dropped,
the weight of {SCAT1} or {WILD} will become 0, in the undropped part of this drop.

The <adjusted weight> here is adjusted for the current patterns in the previous round,so it will be applied to R2 ~ R6,
R1is not applicable (because R1 does not have the previous round)

DropNumber(include with initial drop) Weight adjustment <=This means the weight is adjusted, after the
+45 symbolis eliminated for the first time
3 +30
4 +15
5 -25
6 -50
7+ -90

<adjusted weight> will only change {PIC1 ~ PIC9} 's symbols drop weight, will not change {SCAT1/ WILD}'s drop weight.

Symbol Normal Reel weight WILD Reel weight
PIC1 100
PIC2 100
PIC3 125
PIC4 125
PIC5 125
PIC6 150
PICT 150
PIC8 150
PIC9 150
SCAT1 60 I 0
WILD 0 | 60

If there is a{SCATT} or a {WILD}, then {SCAT1} or {WILD} weight will become 0.
Ifthere are a{SCATI} or a {WILD} in the symbols currently dropped,
the weight of {SCAT1} or {WILD} will become 0, in the undropped part of this drop.

The <adjusted weight> here is adjusted for the current patterns in the previous round,
so it will be applied to R2 ~ R6, R is not applicable (because R1 does not have the previous round)

DropNumber(include with initial drop) Weight adjustment
2 +100 <=This means the weight is adjusted, after the symbol
250 is eliminated for the first time
4 +25
0
-50
7+ -90

<adjusted weight> will only change {PIC1 ~ PIC9} 's symbols drop weight, will not change {SCAT1/ WILD}'s drop weight.

If the initial ollout symbol s as follows, end there is no Wild Reel

SCAT1
PICH c7_| pics
PIC: C PIC4
PIC C PICZ PIC5 | PIC5 [ PICs |
PIC: C PIC1 PICS | PIC5 | PIC5 |
PIC: c PICT PIC5 | PIC5 | PIC5 |

The <PIC1> eliminated after the payline connect, the symbol will drop down as follows:

SCAT1
PIC7
PIC3 PIC8 PICS PICS PICS

PIC6 PICT. PIC4 PICS PICS PICS
PIC2 PIC3 PIC4 PICS PIC5 PICS

The 3 dropping symbols of R1(Reel-1) are determined according to the <basic weight>, as shown inthe table of _PIC1 100
But f the result is {PIC, PIC7, PICT),
then it will drop down as folows: PIC: 100
PIC: 125
PIC 125
PIC7 | SCAT1 25
PIC7 PIC7 PIC 50
PICY PIC3 PIC8 PIC5 | PIC5 | PIC5 | PIC 50
PIC6 PIC7 PIC4 PICS | PIC5_| PIC5 | PIC 50
PIC2 PIC3 PIC4 PIC5 | PIC5 | PIC5 | PIC! 50
SCAT1 60
The 1 dropping symbol of R2(Real-2) are determined according to <basic weight> and <adjusted weights.
as shown in the table on tha right: PIC1 100
But if the result is {PIC5),
then it will drop down as follows: PIC 145 (100+45
PIC 125
PICS PIC 125
PIC SCAT1 PIC 125
PIC PICT PIC 195 |(150+45
PIC PIC3 PICE PIC5 | PIC5 [ PIC5 | FIC 195__|(150+45
PIC PIC7 PIC4 PIC5 | PIC5 | PICS | PIC 150
PIC PIC3. PIC4 PIC5 | PIC5 | PIC5 | PIC 195 (150445
SCAT1 0
There is aFeady (SCAT1} in fhis round.
50 the weightof {SCAT1} s 0.
The 2 dropping symbols of R3(Reei-3) are determined according to <basic weight> and <adjusted weight>,
the final weight as shown in the table on the right: C 100
But if the result is {PIC3, PIC7) , then it will drop down as follows: Pl 100
C 170 (125445
PICE C 125
PIC: SCAT1 | PICT PIC 170 |(125+45
PIC: PIC7 PIC: P 150
PIC PIC3 PIC PIC5S | PIC5 | PIC5 | PIC 195 |(150445
PIC PIC7. PIC: PIC5 | PIC5 | PICs | PIC! 150
PIC: PIC3 PIC: PIC5 | PIC5 | PIC5 | C: 150
<SCAT1> have no <adjusted weight> SCAT1 60
The {PIC7} eliminated after the payine connect, the symbl will drop down as follows:
PICS PIC:
PICS_| SCAT1 | Pl PIC5 | PIC5 | PIC5 |
PICE PIC3 PIC: PICs | PIC5 | PIC5 |
PIC2 PIC3 PIC: PIC5 | PIC5 | PIC5 |
The 2 dropping symbols of R1(Ree-1) are determined according to the <basic weight>,
as shown in the table on the right: P 100
But if the first symbol is (SCAT), then it will drop down s follows: P 100
C: 125
C. 125
PIC 125
SCAT1_|_PIC PICS P 150
PIC SCAT1 PIC8 PIC5 | PIC5 | PIC5 | C: 150
PICH PIC: PIC4 PIC5 | PIC5 | PIC5 | Ct 150
PIC: PIC: PIC4 PIC5 | PIC5 | PIC5 | P 150
SCAT1 60
If R1(Reel-1) has diopped (SCAT1, SCAT1}, the weight becomes 0. as shown on the right PICT 100
But f the sscond result is {PIG8}, it wil crop down as follows: : 100
C: 125
P 125
PIC PIC: 125
SCAT1 |_PIC PIC: C 150
PIC SCAT1 PICt PIC5S | PIC5 | PIC5 | PIC’ 150
PIC PIC: PIC: PICS | PIC5 | PIC5 | P 150
PIC: PIC: PIC: PIC5 | PIC5 | PIC5 | PIC 150
SCAT1 0

There is already
50 the weigh of

AT 1) inthis rourd,
AT 15 0.

The 2 dropping symbals of R2(Reel-2) are determined according to <basic weight and <adjusted weight>,

the final weight as shawn in the table on the right: PIC 100
But if the result is {PICO, PIC1), it will drop down as follows: PIC 130 (100430

PIC 125

PICT PIC 125

PICH PIC PIC 125
SCAT1 PIC PIC: PIC 180 (150430

PIC SCAT1 PI PIC5 | _PIC5 | PIC5 | PIC 150
PIC PIC PIC: PIC5 | PICS | PIC5 | PICE 180__|(150+30
PIC PIC. PICs | PICS | PICs | PICS 180 (150430

{SCAT1} can not have <adjusted weight> SCAT1 0

Thereis already (SCAT1} in this round,
s0the weight of {SCAT1} is 0.

The 1 dropping symbol of R3(Reel-3) are determined according to <basic weight> and <adjusted weight>,
as shown in the table on the right: PIC1 130 |(100+30
Butif the resut is {PICS),

then it will drop down as followis: PIC 100
PIC 155 |(125430
PIC1 PIC 125
PIC! PIC PIC! PIC 155 |(125+30
SCATI_|_PIC PIC: PIC 150
PIC SCAT1 Pl PICE | PICE | PIC5 | PIC 150
PICH PIC Pi PIC5 | _PIC5 | PICs | PIC8 150
PIC2. PIC PIC. PIC5 | PICS | Pics | PICS 180__|(150+30
SCATI 60
3 4 5 6
PIC1 1 2 5 15
PIC2 0.7 1.2 2 4
PIC3 0.5 0.7 1.2 2
PIC4 0.4 0.6 1 1.2
PIC5 0.3 0.5 0.8 1
PIC6 0.2 0.4 0.6 0.8
PIC7 0.2 0.3 0.5 0.7
PIC8 0.2 0.3 0.4 0.6
PIC9 0.1 0.2 0.3 0.5




